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1 EMHEERE - mEEXE - TECRARERE - Akt
(M7 ha)
1545 |38 7 2 < 4 H T R 4 g B ;j %ﬁ%ﬁ@lzg gfﬁﬂ:&% g%gt%%% g ﬁﬂﬁ;ﬁ
g [ S ] 7,820 7,820 1,366 6,454 1,366
{%ﬁ IR - BA f US i 5,888 5,888 1,206 4,682 1,206
o TR S s 2,490 2,490 211 2,279 211
@ | K M oE oo 12,352 7,968 490 7,478 490
2 SUEH BN S BB Wl 7,914 7,914 773 7,141 773
3 e F W 6,996 6,996 1,809 5,187 1,809
A e
x 5F i 3,563 3,563 985 2,578 985
T % R T 12,318 12,318 754 11,564 754
E =R R ) & my 2,309 2,309 265 2,044 265
% 5 my 4,658 4,658 315 4,343 315
/S = B ] 21,745 21,745 4,251 17,494 4,251
O 7B leonifi 9,965 9,965 4,192 5,773 4,192
S < N 9,780 9,780 976 8,804 976
KFE - B H X owE HT 2,336 2,336 584 1,752 584
KW my 12,164 12,164 503 11,661 503
W B iy 16,173 12 8 4 8
) O T 3,748 3,765 1,103 2,662 1,103
H AVANN ) 22,555 8,298 5,046 3,252 5,046
H hvA
e WO K B 37,201 5,800 573 5,227 573
fﬂj S S i N 12,299 12,299 3,290 9,009 3,290
f% R - BT fpo R HT 7,139 7,139 1,392 5,747 1,392
El I DD BT 15,661 9,000 754 8,246 754
§s & Tl [ I I 12,358 12,358 2,922 9,436 2,922
Tr el ] Z ST N 21,562 6,331 1,410 4,921 1,410
g w0 T 6,584 6,584 826 5,758 826
B ECRE wooom™ W 20,535 20,535 1,522 19,013 1,522
B ) i 17,978 17,978 851 17,127 851
) >k bl ok il 7,141 7,141 748 6,393 748
WF 78 7 [ 2 < W 28,407 28,407 5,347 23,060 5,347
JiE W 10,609 9,974 2,355 7,619 2,355
5 R
2t 1 il 14,726 14,726 4,646 10,080 4,646
N T /AR S AV 11} 5,910 5,910 136 5,774 136
LT G ] 20,578 8,256 355 7,901 355
TR &
ES W 6,657 3,403 331 3,072 331
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syl mraimiscsig | o0 M 4 g&zg %mﬁﬁzg gfmﬂg g%ﬁfﬁ gﬁ%%
& #K S S 19,365 2,864 845
b K & XK H f 18,655 4,305 1,256
At M A i il 24,027 24,027 949
T 72 T #EF 8,088 8,088 535
ig PN S NI O ) 32,578 540 93
g{ PN = (A N =) 34,838 1,669 506
éi el T Wk - 4,384 180
Tl e mo| &% m 20,818 20,464 288
%ﬁ hEE N E W 14,503 14,162 512
E; 17 il T K il 22,238 16,633 246
i =l W B T - 1,310 147
o — 9,556 0

et MR P

ECTI O N i) 4,432 4,432 0
N il oWl - 13,552 205
GEF| 20%s R I | 44 BT AL 609,661 431,741 52,220 253,535 57,957
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2 WHHERICED FARHATHH - @K

(HAL: 4, ha)
X5 i b Kk T L X F DD X I, e

Hirak H5k i fE B3 i fE B3 i fE B3 i fE
Ryp IR E 168 81.0 1826 169.4 19 32.1 2013 282.4
i 24 15.6 277 15.5 1 0.3 302 31.4
H DA il 5 2.6 18 0.7 0 0 23 3.4
Wlw e A m o 0.1 23 1.3 0 0 24 1.4
= # M — — — — 0 0 0 0
Elel El vy S S — — — — 1 0.3 1 0.3
O b il 12 6.5 96 6.8 — — 108 13.3
HlF B2 K E — — — — 0 0 0 0
B Fi] i 6 6.3 79 4.1 — — 85 10.3
b 5 1 ol 0 0 61 2.7 — — 61 2.7
PN ¥ i) — — — — 0 0 0 0
gt 15 8.0 324 30.3 10 10.9 349 49.2
I 7K I il 12 4.3 278 27.2 — — 290 31.5
5 i M — — — — 7 6.8 7 6.8
N NIEEE — — — — 3 4.1 3 4.1
Jo| S I i1} 3 4 40 2.9 — — 43 6.6
i X BE my 0 0 6 0.2 — — 6 0.2
L B my 0 0 0 0 0 0 0 0
2 24 14.2 252 25.3 3 2.3 279 41.8
W 7 2.8 71 11.7 — — 78 14.5
4 b K [if] 2 0.3 13 1.8 — — 15 2.2
i b} il 15 11.1 168 11.7 — — 183 22.9
# 17 ¥ M — — — — 1 0.7 1 0.7
B m 0w — — — — 2 1.7 2 1.7
gt 61 24.9 558 45.3 1 2.9 620 73.0
+ i Il 9 2.5 51 4.0 — — 60 6.5
el fif] i 1 0.2 30 1.7 0 0 31 1.9
Bl » & 3 0.4 18 3.0 — — 21 3.4
i T i 13 1.5 17 0.8 — — 30 2.3
4 A [l 8 5.2 34 1.8 — — 42 7.0
Mo < FE 9 10.8 252 22.8 — — 261 33.6
5F o [l 4 0.7 43 2.2 — — 47 2.9
B P il 0 0 17 1.7 0 0 17 1.7
M HBnH55HH 2 0.3 19 1.2 0 0 21 1.5
SOLUEHL VT 8 2.4 40 4.5 — — 48 6.9
ES i ol 0 0 12 0.5 — — 12 0.5
35| Brf B my 4 0.8 22 1.1 — — 26 1.8
@) A iy — — — — 1 2.9 1 2.9
gl iR my 0 0 3 0.1 0 0 3 0.1
gt 44 18.3 415 53.1 4 15.6 463 87.1
) 1] [l 21 8.3 83 15.9 — — 104 24.1
15| £ Ik [iil 3 0.4 42 4.5 — — 45 4.9
T *= il — — — — 2 13.2 2 13.2
7 il e il 1 2.4 37 2.7 2 2.5 40 7.5
B [ii] il 6 3.9 91 7.9 — — 97 11.8
K H [if] 6 1.8 79 8.6 — — 85 10.4
e A JI| il 0 0 25 1.9 — — 25 1.9
AN S AV 0 0 25 9.1 — — 25 9.1
Wlw @ wr 0 0 3 0.2 — — 3 0.2
% my 7 1.6 30 2.4 — — 37 4.0
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X5y s L
il R oM
Mg HEM O T HE DR Uit HEM O T
RIRE 2 17,963 359.5 15,378 208.4 2,585 151.1
Fin 3,521 66.0 3,023 40.3 498 25.7
H ST [l 865 19.4 755 10.7 110 8.7
Wl e Kk W 1fh 211 3.0 181 2.3 30 0.7
= # i 178 4.3 142 1.7 36 2.6
eldk K sk Wi 221 3.6 184 2.2 37 1.4
O 7= b i 1,153 22.0 1,007 14.4 146 7.6
a1 = NI = i) 182 3.2 150 1.7 32 1.5
Bl T il 380 5.3 333 4.1 47 1.2
Ik | i ixl 289 4.3 236 2.8 53 1.5
N e 7] 42 1.0 35 0.4 7 0.6
i 3,026 59.7 2,646 37.3 380 22.4
o £ = il 1,954 40.2 1,775 26.3 179 13.9
&% Bl il 483 8.1 415 5.3 68 2.8
ey TN 272 5.1 212 28 60 23
#h | 2% b4 1} 156 4.1 111 1.4 45 2.7
N BN B il 103 1.5 88 1.1 15 0.4
i IR H 7 58 0.7 45 0.5 13 0.2
2 1,708 32.2 1,357 17.9 351 14.3
i W il 408 6.2 346 4.5 62 1.7
47 |l >k i 122 1.6 104 1.2 18 0.4
Hy b 1 i 694 16.5 559 8.1 135 8.4
y ki 5 i 196 3.9 143 1.8 53 2.2
e H i 288 4.0 205 2.3 83 1.7
s 6,628 130.1 5,788 78.6 840 51.6
+ i il 861 19.8 734 11.2 127 8.6
fa ] i 365 5.3 326 4.0 39 1.4
BE & I W 378 5.2 330 4.0 48 1.2
i) T+ i 574 8.7 540 6.8 34 1.9
Bk A il 565 8.3 517 6.3 48 2.1
> < F 1,991 34.8 1,794 26.8 197 8.1
i 5F Za i 449 8.2 414 5.8 35 2.4
Hi # i 163 3.0 113 1.2 50 1.8
MNT BRI T 219 4.7 181 2.3 38 2.4
Mo E A S Wi 476 8.9 438 5.6 38 3.3
ES i) ol 109 1.8 31 0.4 78 1.4
5 B A T 347 19.4 262 3.2 85 16.2
b kD) AN i) 36 1.0 16 0.2 20 0.8
il i i) 95 1.0 92 1.0 3 0.0
s 3,080 71.5 2,564 34.4 516 37.1
i ) il 805 25.3 703 10.4 102 14.9
15 i I il 336 5.9 289 3.8 47 2.0
T = ol 250 4.6 200 2.6 50 2.0
75 | il 388 10.3 313 4.0 75 6.3
gl 75 i 541 10.9 438 6.0 103 5.0
Iz H il 293 4.8 244 2.8 49 1.9
it A )1 i 144 2.4 128 1.5 16 0.9
N AN S s ] 136 4.2 104 1.4 32 2.9
29 E B my 35 1.0 24 0.3 11 0.7
5i T 152 2.2 121 1.7 31 0.5
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w A | ke AR OVE By 0B —H 42.5
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5 = | B SO ONE BT O 26.5
ES =i e | AT R O T O — 41.1
+ W f % 7 PN PEHT OD—H 3.3
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b & oh . | PR R ONRHEERT 45— 91.5
Ko HT H W | RUERT E i EO—H 67.2
O 7z B 7gonifi T S TR S B -3 R EE S{AR< il 12.1
mEE D ®m | R KAOR 9.2
Wae b= xm |BE-eLb ZKA0F— 20.9
S HEEBZSZ | SXEERZOR 21.1
K OE B R | R4 b =R BRI O — 25.8
o5} i3 J65 T R Vo] == JT BT 0D 4% — 1 57.8
oW T OE 8 | WUVRHE SR BT N D% 42.0
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6 RBMZEICESKBHMERADOHARVEN (FR 27 %)

(1) Hu3geR
(HA7: {4, ha)
X5 EE] ~ A

kil S T AL %
stk % T % H
R B 7,303 700.6 3,091 183.3
8 1,545 110.1 786 43.1
H ST i 228 14.6 188 9.1
Ble e K M| H 115 7.1 36 1.5
= # il 46 2.8 — —
=il B[ S A 1] 33 2.4 — —
O b i 516 33.1 394 23.1
e B K B W 140 16.4 — —
A Fif i 289 20.0 118 6.0
s | 1 Kt 127 6.9 50 3.5
PN 1 iy 51 6.8 — —
Bt 1,179 124.0 353 21.4
ol 7K )= il 662 68.2 299 18.2
& 5] il 231 26.5 — —
NN 141 17.1 — —
i | K Il I 72 8.9 10 1.8
BN U i) 47 1.4 44 1.3
- L L ing 26 1.9 — —
i 748 79.6 182 11.6
e | s i 189 21.8 55 3.8
47 |l k& i 120 7.9 76 3.3
" i i i 112 15.0 51 4.5
|17 5 il 220 20.7 — —
LA H il 107 14.1 — —
Bt 2,244 229.0 1,152 64.5
+ il [ifl 338 28.3 235 14.2
a fif] il 215 18.9 71 3.4
BE & 128 12.2 81 2.5
Hy F il 122 7.2 84 3.7
B4 A il 65 10.1 39 1.4
S < F T 704 59.6 350 20.8
i 5F B il 99 4.7 54 1.6
fith e il 101 40.1 0 0
N BRI 117 10.5 47 2.4
> E A B W 110 11.3 64 2.1
*x il i 30 3.5 3 0.9
i B A Wy 188 21.1 122 11.5
i b N My 17 1.1 — —
gl iR 0] 10 0.5 2 0.1
i 1,587 157.9 618 42.6
o {A il 415 37.8 298 22.2
[I=N B I il 186 13.0 88 6.5
T = il 7 0.4 — —
75 | R il 191 17.7 30 1.5
i ] il 326 30.3 105 5.6
K H il 195 35.8 35 2.3
e B )1 il 72 5.8 24 1.6
N AN S L) 73 8.1 14 0.9
59 E i T 21 3.5 6 1.2
5 7 101 5.4 18 0.9
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(2) ®=HEMRI
(HA7: £, ha)

X4y : = H XA 2O M R 2ol o
A THRZEH il R
Hilsk = G =M O e = = IO~ o I | T
RIR R B 3,978 | 184.4 42 | 22.2 125 | 20.9] 3,158 | 473.1{ 7,303 ] 700.6
it 948 | 40.7 8 0.3 27 4.7 562 | 64.4 | 1,545 ] 110.1
H A il 151 5.6 1 0.0 0 0 76 9.0 228 | 14.6
WlE e K W 58 1.9 0 0 0 0 57 5.2 115 7.1
= # i 25 0.9 0 0 0 0 21 1.9 46 2.8
|| El S ] 20 0.8 1 0.0 1 0.2 11 1.4 33 2.4
O 7= b e il 375] 18.0 1 0.1 4 1.3 136 | 13.7 516 [ 33.1
HilE B KR i 54 2.2 1 0.1 10 1.2 751 12.9 140 | 16.4
A E20) ] 172 7.0 4 0.2 2 0.1 111] 12.8 289 [ 20.0
Ik 2K 1 #f 88 4.0 0 0 0 0 39 2.9 127 6.9
N S fT 5 0.3 0 0 10 1.9 36 4.6 51 6.8
it 649 | 36.3 2 1 6 1.6 522 | 85.6 | 1,179 | 124.0
P ES )5l M| 394 23.5 0 0 1 0.3 267 | 44.4| 662] 68.2
& i il 112 6.1 0 0 2 0.5 117 ] 20.0 231 | 26.5
N TN 57 3.4 2 0.6 3 0.8 79 123 141 17.1
i | 2K b iy 35 1.7 0 0 0 0 37 7.2 72 8.9
x bhin i3] 37 1.1 0 0 0 0 10 0.3 47 1.4
i Ei54 . iy 14 0.5 0 0 0 0 12 1.4 26 1.9
&t 268 | 12.3 2 0.2 26 48| 452 62.2 748 | 79.6
i LR I il 62 3.0 2 0.2 24 4.7] 101] 139 189 21.8
47 H >k i 71 2.8 0 0 0 49 5.1 120 7.9
i 1 il 53 2.8 0 0 1 0.1 58 | 12.1 112 | 15.0
H iT il il 45 2.1 0 0 0 175 18.6 220 | 20.7
1[5 H [l 37 1.6 0 0 1 0.0 69| 12.5 107 | 14.1
2t 1,272 | 54.0 12 2.1 57 8.6 903] 164.3 ][ 2,244 | 229.0
+ il il 214 10.1 0 0 2 0.1 122 18.0 338 | 28.3
el [i] il 100 4.4 4 0.1 9 2.0 102 12.3 215 | 18.9
BE S W 68 2.2 3 1.2 0 0 57 8.8 128 12.2
Jijd + i 80 2.7 0 0 0 0 42 4.5 122 7.2
B4 A il 36 1.2 0 0 0 0 29 8.9 65| 10.1
> < il 428 19.9 2 0.1 40 5.3 234 | 34.2 704 | 59.6
i 5F ZaN i 76 2.4 0 0 0 0 23 2.3 99 4.7
Hi o i 39 1.8 1 0.0 0 0 61] 38.3 101 ] 40.1
N T A BB T 53 2.0 0 0 4 0.7 60 7.8 117 ] 10.5
Wlo T H6 Wii 74 2.6 0 0 0 0 36 8.7 110 11.3
ES i ol 4 0.2 1 0.6 0 0 25 2.7 30 3.5
ik [n] B g 93 4.3 0 0 2 0.5 93| 16.3 188 | 21.1
i @) i3 4 0.1 1 0.0 0 0 12 0.9 17 1.1
al 1R iy 3 0.1 0 0 0 0 7 0.4 10 0.5
# 841 | 41.2 18] 18.9 9 1.2 719 96.6 | 1,587 | 157.9
o @) il 256 15.9 1 0.4 2 0.7 156 | 209 415| 37.8
1. | it b il 109 5.8 0 0.0 0 0 77 7.2 186 ] 13.0
T e i 3 0.2 0 0 0 0 4 0.2 7 0.4
5 | % il 79 3.2 2 0.1 0 0 110 | 14.5 191 17.7
S it} il 175 6.8 5 0.5 3 0.4 143 ] 22.6 326 | 30.3
% Ji il 94 3.9 8| 17.6 2 0.1 91| 14.3 195| 35.8
e B )1 ii 38 1.6 0 0 2 0.1 32 4.1 72 5.8
AN S AV ) 43 1.9 2 0.4 0 0 28 5.8 73 8.1
29 ER 5 iy 8| 04 0 0 0 0 13 3.0 21 3.5
5 fy 36 1.5 0 0 0 0 65 4.0 101 5.4
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